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MEC-103 : QUANTITATIVE METHODS
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Note : Answer questions from each Section as

directed.

Section—A

Note : Answer any two questions from this Section.

1.

2x20=40

(a) Explain the process of drawing inferences
and testing hypothesis about the difference
between two population means, when the

population variances are known.

P.T.O.

4.
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(b) How would you draw inference about the

variance of a population ? Explain.

Explain the method of maximum likelihood for

estimating the value of a population parameter.

Consider the following cobweb model :
Qu =18-3R
Qg =-3+4R_;
(a) Find out the inter-temporal equilibrium

price and determine whether the

equilibrium is stable.
(b) Establish the stability condition of
Samuelson’s multiplier-accelerator model.
A revenue maximizing monopolist requires
a profit of at least ¥ 1,500. His cost and
demand functions are C=500+4q+8g% and
P=304-2q.
(a) Determine his output level and price.

(b) Compare these values with that he would

have achieved under profit maximisation.
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Section—B

Note :Answer any five questions from this

Section. 5%12=60

5. Solve the following linear programming

problem :

Min. :

C=06x +x,

Subject to :
10x; +4x9 220

2% +6X%,>12
5x +5x%, 220

X, X =0.

6. Find the inverse of the following matrix :

4 1 -1
0 3 2
3 0 7

7. We rolled a die and the number 1s even. What is

the probability that it is 4 ?

P.T.O.

10.

11.

12.
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State the salient features of normal
distribution.
From a group of 7 men and 4 women, a
committee of 6 persons has to be formed.
Find out the probability that the committee will

have :

(a) exactly 2 women

(b) at least 2 women

Write a linear first-order differential equation.

Find out its general solution.

Define a homogeneous production function.

State its properties.

Write short notes on the following :

(a) Hawkins-Simon condition

(b) Simplex method
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2x20=40
() T SHEETAl & HEE o TR Rl W%
FH & AU ‘Yreehegdr gder’ wd HHE

T 1 Gfshal HESY, Sl SHEesT %
T A1 B

(@) fFdl S99 & YU F1 o UM &9

NSHIEISIE] % ? AU

P.T.O.

2.
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fordl 9@ % =A% Hod ki 3THHM o H
H 9 gF et ‘Afuean garemar &t fafy
&1 AU

frefafaa wfada wgal (Cobweb Model) T
fa=ar =T

Qq =18-3R
Qg =-3+4R,
(31) A<HiIh (inter-temporal) e 1 F
ST T waEu o Gaem feer €
Tl ?
(9) T=3eET & TR’ "iEed @l
feeran =1 vrd/aTereen w1 Tonfya wifsa|

Teh 3T/ i 3Ifeehdd & el TehTiHeRRI
®1 FH-H-%9 T 1,500 1 o e 2, e

&N Tl G ®eH C=500+4q+8g2 3N hidd
P=304-2q %I
(31) 391 IEEA T g R Fuifa Fifsm)

(|) 39 ‘o9 Afusraq’ & =rid fHeq o
A | 31 Hdl 1 dal hifSia|
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qie : 39 9 9 &=l qler 9949 &1 g7 iU

FAAHIR
C=06x +x,
EISERE
10x; +4x9 220
2% +6X, 212
S5x+5% =20
X, X =0.

5x12=60

6. Trefafea Afgem &1 ufaeim @ wifsw .

w o &
-

1
3
0

|

~N N

|

7. 9§ BH UH UH H dedd B, I Y GEA
U H B ol W Y WA % 4 BH &l

ifeerdr &= R 2 Sdrsu|

P.T.O.
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8. ‘g faaor’ #i wen favivyan saed|
9. Uh GHE W 7 %Y WS 6 Afewd €| U GHE U
6 SAfFadl #1 T gfEfd 9AE S R, df =9
ofafa o .
(31) wHeH & 2 Tfeand
(9) HH-9-%7 < Uil 8 i Wiaemar

2 ? garu)

10. T Yaw g wife fades wiew fafeu
THH] IHT 8 A hifeU|

11. GSAT 39T ®ed #91 ¢ 7 9dEU TS SHh
TN i AT FHIT

12. frefafed fowai w Hag 7 fafau .
(31) @ifera-gread vri/aRfEfq
(a) faretey fafuasfa
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